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Note: our 8’1o distinguishes between a bone that is o and 23 0o means “sealed”, i.e. the bone is intact and there is no way to
directly touch the marrow; 2372 — punctured — means that there is some direct access to the marrow, which is the source of N9V (as TV3)
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I n mwn: The status of the femur

a  Dead human or of pw7p): touching them, whether they are Dino or 21p1 — 8NV
i Inference: only yan generates nkmv — not YR
1 But if: there is a 13 of flesh — Ynra xnon
2 And if: there is less than 2wa mo1 but there is m13 of marrow — kMY "pushes” up and generates >Nk nxrM
3 But even if: there's less than n>ry of marrow — if the marrow can generate healing for the bone, it is a proper 728
(a) Answer (1777 1772 1mi7? 37): this proves that marrow cannot heal
(b) Challenge: we've established that our nywn is a case of less than n1 — if so, why is it Yana xnon re wTPIN?
(i) Additionally: in X0, why is the femur of a 1921 Rnvn if punctured?
(ii) Answer: Rw1 is a case of less than n'; Ra*0 — a full no1
1. Teaching: Rw*1->(nn) marrow doesn't heal; (0*w7pn) — appurtenance of IM=1Mm (per pnx’ ')
2. Teaching: R0 > (n%21) — even if there is a n>12 of marrow, only if punctured is it Xnon
(c) Answer2 (»ax): we could still maintain that marrow generates healing
(i) Circumstance: he rubbed and smoothed the bone, per 8" — if done lengthwise — still xnon
(d) Answer 3 (721112 79): could be a n>13 and marrow heals — but "yan" means nrn
(i) But if: marrow heals, then in 90 why are D™V D'mINo?
(if) Answer (»77 pw3): there is a 13 of marrow that's moving around;
1. Re: nn, it "pushes up" and generates nkmY; but re N%>1), since it is moving — only if 2193 >RNY
b Analysis and support for 21177 71 (pax “7): Rn»12 - if you touch 1/2 m13 and are ’nxn over (or are under) 1/2 0>t — XNV
i Proving: that touching and 5nxn are considered one (="ya” could mean 5nxn) —else, can't 470¥n
1 Per: ®:a mYnR — only if it the 2 half-n™pw are of one category (TnXR W) can there be g1y
2 Challenge: from 82>0 — if he touches 1/2 n>12 and something else is >nkn over him and 1/2 mr> — v
(a) Contradiction: identified between Xw»1 and Rao there
(b) Answer (X7r 77): case in mwn is NI IRMD (NN W1 is wedged between 2 wood chests) — all ya
(i) If so: which Rin equates »nRn:yan?
1. Answer: o1 1 (R:7 MYNR RNavn) a pitchfork of corpse-mold is Xnovn via Rwn Yan and YR
Question: we understand 971 yan — but how can he be touching all of it?
Answer: he calls 9nrn - "yan"
Challenge: they are both mentioned (= cannot be the same)
Answerl (7an): if he is less than 1nav above it — called y»3; if more — 9nrn
Answer2 (837): even further "yn1” — 5nR; 9 nrn: when he and the source are under 1 5nR
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1.

ii.
iii.
iv.
vi.
vii.
viii.

ix.

Xi.

Support: o1 "1 — bed-mesh or window rails placed above nn in the air, touching spot of
holes >&nv; away from holes >0

Explanation: if nn is less than nav below mesh — why 7710? The mesh is like nnn mo2
Must be: more than nav — still called "yan"

Rejection: it is less than nav; disanalogy from moa, which he is nn% Y0an, unlike mesh
Still and all: should be Xnvn as ny,a

Answer: »ov "1 doesn't agree to principle of N9 NYPI2 NNV NRMO

Support: 2:7 MYNR — a Nav cubed drawer in a chest, with less than nav which comes out
If: nn nRm in drawer, house is XnvY; but kMY in the house — contents of drawer MY
oy /1. finds contents 111v, since he could take half out or burn it in situ

~900. if he put it at doorway — in either case, 11nv; 'ov 1 then (again) states 11w

Can't be: referring to X0 — p"n also declares 7Y; must be on ®RwW™; he rejects both 717
NRYY RNV (in his comment at Xw») and NP2 NNV IRMD (in R9D)
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II  Extemded discussion of »01 "1's opinion

a

Contradiction: :x0 mynR — if a dog ate nnn w1 and then the dog died and was lying on the door's lintel
i »77. if the dog's neck is a nav cubed — house is Xnv; if not — cannot induce the kMY into the house
ii ~ ’p» 77 if the nnn 91 (inside the dog) is inside the doorframe — house is ®nv; if outside — NV
1 Assumption: »ov " is referring to a case of less than nav-width 2>nypia nnnv nrmvo
2 Rejection (X¥37): > disagrees with n” on 2 counts:
(a) Cubed nov: should not be measured at dog's neck, but at spot where nrmv is (in his body)
(b) Location: entire house isn't Xnv, only if "k is on inside of Npwn
3 Support: X177 12 RNR "1 read the mwn explicitly that way - »ov "1's focus was on nkmvn Hon
iii  7rv5x 77 if his mouth is facing inside — 19nv; if facing out — 8NV (NRMV exits through his back end)
iv 2727 in any case, the house is &nv
Identification: of X1n who disagrees with »01 7 (who holds that 9>nxn and y»1 are the same and are q10xn)
i v (8:7 mbx 81ooin): there are 3 types of nkmv from a nn, each having only 2 of the 3 mrmv ("R ,xwn ,Yin)
1 A pitchfork full of corpse mold: YRy ®wn, but not yan (can't touch them all at one time)
2 Barleycorn size of bone: yany Rwn — but not YR (n”"n%n)
3 Tombstone: YnR) yan — not RwN (n"nYn)

I (xo*0 of mwn) Femur of n%1 or p7v: if they are Dmno — no yan nrm; if punctured at all — yan nrmv >RV per vvl-2

a

Source: vl — nn%11 and not a sealed femur — but if punctured, we apply nnYaa yan
i Meaning: if it can be touched (is accessible) — ®nv; if not — NV
ii  Challenge (7ax5 8vr *9): if so, a N1 shouldn't be ®non if it isn't flayed (sealed by skin)
1 Answer: we can see many punctures in the skin
iii ~Challenge (8275 97): if so, the kidney (of n%21) shouldn't be Xnvn as it is sealed with the fats
1 Answer: we see many "strings" coming out from the kidney
NYBIN “1's question: what if he intended to puncture it but didn't yet do so — does 1721 nrn obtain?
i Discussion: does the lack of actually puncturing considered significant?
ii  Answer: insignificant - already &novn once he intended to puncture it.
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